

$$\begin{array}{c}
\begin{array}{ccc}
\dot{t} \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} & \xleftarrow{\dot{t} | \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array}} & t \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} \\
& & \xleftarrow{0 | \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array}} & 0 \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array}
\end{array} \\
\curvearrowright & & \\
0 | \dot{t} \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} & & \\
\dot{t} | \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} - \infty | \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} = -\infty | \dot{t} \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} & & \\
t \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} \xleftarrow{\frac{|t0t| \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array}}{e^{t\mathcal{H}} e^{-t\mathcal{H}}}} t \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} & & 
\end{array}$$

$$|t0t| \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} = \overleftarrow{\exp \int_{d\tau}^{0|t} \bar{\mathcal{H}}_{\tau}}$$

$$\bar{\mathcal{H}}_{\tau} = e^{t\mathcal{H}} \bar{\mathcal{H}} e^{-t\mathcal{H}} = e^{t\mathcal{H}} \overline{\mathcal{H} - \mathcal{H}} e^{-t\mathcal{H}} = e^{t\mathcal{H}} \mathcal{H} e^{-t\mathcal{H}} - \mathcal{H}$$

$$\frac{d}{dt} |t0t| \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} = \frac{d}{dt} e^{t\mathcal{H}} e^{-t\mathcal{H}} = \mathcal{H} e^{t\mathcal{H}} e^{-t\mathcal{H}} - e^{t\mathcal{H}} \mathcal{H} e^{-t\mathcal{H}} = e^{t\mathcal{H}} e^{-t\mathcal{H}} \underbrace{e^{t\mathcal{H}} \mathcal{H} e^{-t\mathcal{H}} - \mathcal{H}} = |t0t| \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} \bar{\mathcal{H}}_t$$

$$|000| \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} = I \Rightarrow |t0t| \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} = I + \int_{dt_1}^{0|t} |t_1 0 t_1| \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} \bar{\mathcal{H}}_{t_1} = I + \int_{dt_1}^{0|t} I + \int_{dt_2}^{0|t_1} |t_2 0 t_2| \times \mathbb{R}^d \begin{array}{l} \# \\ \lrcorner \\ \mathbb{R} \end{array} \bar{\mathcal{H}}_{t_2} \bar{\mathcal{H}}_{t_1} = \dots$$

$$= \sum_n^{\mathbb{N}} \int_{dt_1}^{0|t} \int_{dt_2}^{0|t_1} \dots \int_{dt_n}^{0|t_{n-1}} \bar{\mathcal{H}}_{t_1} \dots \bar{\mathcal{H}}_{t_n} = \sum_n^{\mathbb{N}} \int_{dt_1}^{t \geq t_1 \geq \dots} \dots \int_{dt_n}^{\dots \geq t_n \geq 0} \bar{\mathcal{H}}_{t_1} \dots \bar{\mathcal{H}}_{t_n} = \sum_n^{\mathbb{N}} \frac{1}{n!} \int_{dt_1}^{0|t} \dots \int_{dt_n}^{0|t} \overleftarrow{\bar{\mathcal{H}}_{t_1} \dots \bar{\mathcal{H}}_{t_n}} = \overleftarrow{\exp \int_{d\tau}^{0|t} \bar{\mathcal{H}}_{\tau}}$$

$$|t\dot{t}| \times \mathbb{R}^d \triangleleft_{\#} \mathbb{R} = \overleftarrow{\exp \int_{d\tau} \bar{\mathcal{H}}_{\tau}}$$

$$\bar{\mathcal{H}}_{\tau} = e^{t\mathcal{H}} \bar{\mathcal{H}} e^{-t\mathcal{H}} = e^{t\mathcal{H}} \overbrace{\mathcal{H} - \mathcal{H}} e^{-t\mathcal{H}} = e^{t\mathcal{H}} \mathcal{H} e^{-t\mathcal{H}} - \mathcal{H}$$

$$\frac{d}{dt} |t\dot{t}| \times \mathbb{R}^d \triangleleft_{\#} \mathbb{R} = \frac{d}{dt} e^{t\mathcal{H}} e^{-t\mathcal{H}} = \mathcal{H} e^{t\mathcal{H}} e^{-t\mathcal{H}} - e^{t\mathcal{H}} \mathcal{H} e^{-t\mathcal{H}} = e^{t\mathcal{H}} e^{-t\mathcal{H}} \underbrace{e^{t\mathcal{H}} \mathcal{H} e^{-t\mathcal{H}} - \mathcal{H}} = |t\dot{t}| \times \mathbb{R}^d \triangleleft_{\#} \mathbb{R} \bar{\mathcal{H}}_t$$

$$|t\dot{t}| \times \mathbb{R}^d \triangleleft_{\#} \mathbb{R} = I \Rightarrow |t\dot{t}| \times \mathbb{R}^d \triangleleft_{\#} \mathbb{R} = I + \int_{dt_1}^{t|\dot{t}} |t_1\dot{t}| \times \mathbb{R}^d \triangleleft_{\#} \mathbb{R} \bar{\mathcal{H}}_{t_1} = I + \int_{dt_1}^{t|\dot{t}} \overbrace{I + \int_{dt_2}^{t_1|\dot{t}} |t_2\dot{t}| \times \mathbb{R}^d \triangleleft_{\#} \mathbb{R} \bar{\mathcal{H}}_{t_2}} \bar{\mathcal{H}}_{t_1} = \dots$$

$$= \sum_n^{\mathbb{N}} \int_{dt_1}^{t|\dot{t}} \int_{dt_2}^{t_1|\dot{t}} \dots \int_{dt_n}^{t_{n-1}|\dot{t}} \bar{\mathcal{H}}_{t_n} \dots \bar{\mathcal{H}}_{t_1} = \sum_n^{\mathbb{N}} \int_{dt_1}^{t \leq t_1 \leq \dots} \dots \int_{dt_n}^{\dots \leq t_n \leq t} \bar{\mathcal{H}}_{t_n} \dots \bar{\mathcal{H}}_{t_1} = \sum_n^{\mathbb{N}} \frac{1}{n!} \int_{dt_1}^{t|\dot{t}} \dots \int_{dt_n}^{t|\dot{t}} \overleftarrow{\bar{\mathcal{H}}_{t_1} \dots \bar{\mathcal{H}}_{t_n}} = \overleftarrow{\exp \int_{d\tau} \bar{\mathcal{H}}_{\tau}}$$